Day 9/10: Review and Thinking Questions

1. Determimne the values of x, 0 < x < 2m, that will result in a y value greater than or equal to 3 for
the equation y = 4 — 8 sin? x. Round answers to 4 decimal places.
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2. The Quadratic trigonometric equation acos? x + b cos x — 1 = 0 has the solutions g, n,i;—r in the

interval 0 < x < 2n. What are the values of a and b?
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3. Solve 6sin®x — 13 sin? x + 2sinx + 5 = 0. Determine exact values if possible, otherwise round to
2 decimal places.  POO = £y B 2w b 2ot S pC !>r~::o x4 s aduachy
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4. Solvecos2x —3cosx —3—cos?x =sin?xfor0 <x <2m
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5. a) Show that4 — cos 26 + 5sinf = 2sin®? @ + 5sin 6 + 3
b) Hence, solve the equation 4 — cos 20 4+ 5sinf =0for 0 < x < 2mw
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6. Solve

7. If x satisfies the equation sin (x + g) = 2sinxsin (;?)’ show that 11tanx = a + bv3, where g, b

are positive integers.
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8. The graph below shows y =a cos(bx) +c. Fmd the value of a, b, and c.
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9. The graph of y = pcosgx + r, for =5 < x < 14, is shown below.
a) Find the value ofp, g, and r.

b) The equationy = k has exactly two solutions. Write down the value of k.
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12. If cosB+sinB :%, find the value of sin20.
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13. If cosO+sinB = 1+v3
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, find the value of sin20.
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16. Find the value of cos®1° +cos?2° +co0s*3° +... +cos” 89° +cos* 90" |
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